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(3) � (20) � ��!#"%$&�('
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,.-#/ '10&23�4���3576�8#9�$;:�<�=?>A@CB%� 3 D�E&' (x,y,z) � (x′, y′, z′) �F�#G�������H�IJ $1K
2.2. LAM�N�O��4P�QR ';S�TU�1V�W��;X72�072#�#YFZ�����5&��G��1������� ( W&�\[.!^]_��`(a���b ) �4c�d+�e $���f / ' , �1g3�&6�h�i���LAM�N�O��4P�Q / D�j7kU$1Kl7m

I n�o\prqts_o#u4v ��w\x7y�z o�n&{4| 	~}%� 1 ��o4|�o\prq�s�o�u�v��\�7�~����������?���
,�- �4'�k�I\6 ���3f#Y(Z����7�F�������_�#��6��&�1k7$ , � / I���$FKF`;a���b��r����k&$�`
a���6�� *(� :�< =�>%@ B&¡#¢�� ���76 )�*r+�£ �\f4�¤�¥'4¢���=%>A@¦BU� 3 D�EU� (x0,y0,z0)
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,�, I����#���%����©\6 A �_§ e�� K ,~- ¡3'#Y Z#�#� A 64ª%« + ' (x0,y0, z0)
/�¬ ­�®%¯�°

± I J ]²' ¬1­�³3/ 1 I J $ , � �(´A« +�e $ K���b���� I �(X?µ e $��('#¶ H7¡3'

(A− I)









x0

y0

z0









= A









0

0

0









(34)

�·§U9&$ K�27[?]¸'1��� A− I 6�¡1¹���� /3º�» «�¼ e K�¢��1½#¾�¡3' ����H / 0 I J $ , �('
|A− I| = 0 (35)

I J $1K�� ,�¿ I&' A �1a%À1��� tA ¡ A �1¹3���7f4�Á�('
(A− I) tA= I − tA. (36)
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,�, I����U���#��H%��� ]¸' aAÀ1����������H�¡��7�1����H ���A« e , �¥'#` a3����������H
¡ 1 I J $ , � ( H 30) �;X�µ e $7�('

|A− I| = |I −A| . (37)

	�
 6#' n×n ��� B ������HU6�2 e�+ '
|−B| = (−1)n |B| (38)/ D�j7k�$�K R c�d +�e $ 3 �����#�\6�2 e�+ ¡#' |I −A|=−|A− I| I J $ K )�*;+ ' (37) ¡

(35) �¥´�« +�e $ , � / !���$�K
2.3. LAM�N�O�


���#���\¡ 9 2#�������(X72�!&9�f / '���j7¼����3¡ 3 24I J $ 8 K�¢�� 3 2����3P3k -
¨�'10&23���#��5&�3G��1���A� P���« � , �¥6�¼&$�K

������������!\k 3 2����AN��FO���O���« +�� �"! ! - $�#1��6 ���3����� / J $1K�L
M�N�O�
76$# e ¿ e ¿ ¼�P�� / J $ / ' ,�, I7¡&%('U��)���*�+���,�-�6 ! ! - +3e $ . zyz /
LAM�N�O�
U��P��A��0 e�+21�3 �5476&$�K8�9 ���&��¶1I7' 1.4 :�I�P���« � ' x,y,z �%��c�dU$ (x �7¡�;#E�W7' z �7¡�<�=���< e+�e $ ) K z ����> ] 63' +z �3<7����< e4+�? ��> ] 6�
�@ φ ` a%«�' x �U' y ���1bUÀ#�¥�7d
$1K , �BA � ¼ 3 �%��'BC�D&¶ x′y′z′ � « )FE (z = z′ I J $ ) KB�76#' y′ �U��> ] 6�'�
�@ θ `
aA«4' x′z′ ����b�À��(��d3' x′′y′′z′′ �A�(P��\k�$ (y′ = y′′ I J $ ) K5GIH\6�' z′′ ����>t] 6 ψ `
a�«�'�G�JLK�6#' x′′′,y′′′,z′′′ �A� P��7kU$ , � / I?��$1K xyz ��6 ) $�M¥����5 �(' x′′′y′′′z′′′ �
6 ) $NA3���#57�3G��POBQ%��R7dU$ (φ,θ,ψ) ��'�L�M�N�O�

�BS�T�K, � )FE 6�P��%« � L%M�N�OB
Á�¥' (11) [ � ¡ (20) I�R\d?� - $~���#���Á�¥��O�Q���UV#+PWA)FE KU[NX#'�G�Y�� z ���7[;!^]�� φ `(a3I&'�A � ¼[ZI\3=?>%@CB �]�7��Z2\#=�^Á@CB
�3G���OBQ7¡�h3i�� )FE 6�¼U$ K
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_�` 6\« + ' y′ ��> ]_� θ `FaU6 )�*¥+ '
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z′′ �P>�] � ψ `(a�6 )�*(+ '
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8 aBb�cedef"gih[jNkmlon�fqpsrit�u5vowyxszq{Nf"|B} ( ~y� f��y�o�����o� ) �s� f�����k�f]xszq�B���]�(����o� ���(�(��je�s�iw��������BcN�sdy�(d�v 3 � �N ]�¡�
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h�¶�' 3 H���[7��6 + '

(e′′′
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=(e1,e2,e3)
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,.- ¡\`Fa#���\f��Á�('1½#¾ (26) � (30) ��� � « +�e $ , �¥6����A« )FE 9 K
3. ��� �3
 o
	���

3.1.

8�9 ���Á��� 9 �������1���
;3E#W%�B��« +\e $ x �%��>^]_�\`Fa?��c�dU$���� e K7` a�
 θ = 23.◦43929 I J $ 10 K

�7��ZI\3=?>%@ B�� ex,ey,ez, A � ¼[ZI\�=?>�@ B�� e′
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z �rkU$&�F'
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(ex,ey,ez) = (e′
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. (45)

)�*r+ ' 8�9 ����I7�1:�<�=�>%@ BU� 3 D�EU� (x,y,z), � 9 ����I7��D�EU� (x′,y′,z′) � « � �
�1' (32)

) ]¸'








x′

y′

z′









=









1 0 0

0 0.91748 0.39778

0 −0.39778 0.91748

















x

y

z









(46)

/ ' 8 9 � � � ��� 9 �t��� �¤� � �$R d $�K 3 � O������ � c d + W ) E K 8� ' 8�� / (281.◦000, −4.◦070) � � ��' (1) I R^d � - $�'3¢ ��: <�= > @1B ¡t'
(0.19033, −0.97915, −0.0709752) ��¼ $\K (46)

) ]²'�� 9 ���Á6A8?9 $�: <&=^> @.B ¡ '
(0.19033,−0.92658,0.32437) �;¼U$1K (5) � _�` 6\« + '

tan−1

(−0.92658

0.19033

)

= −78.◦3923 = 281.◦608.

tan−1

(

0.32437√
−0.926582 + 0.190332

)

= 18.◦927.

9 ���! ]v#"%$'&)(�w ”Mathematica” �+*q� � �! -,"�/. ���s��,102,�w( y�43%5yv7698]f+�5�+:�0�;=< � �?>�o��@�A'BDCFEG(�HIAo�
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